



\$39,900,000

176 SPYGLASS LN, JUPITER, FL, 33477

<https://ritterproperties.com>

Introducing the Ultimate 1.46 acre Trophy Property in Admirals Cove with over 365 feet of direct intracoastal frontage with sweeping views of the waterway and beyond. It's fully equipped to accommodate a mega yacht, offering the ultimate in nautical luxury. An architectural triumph nestled within one of Jupiter's most exclusive waterfront communities. Originally completed in [...]

- 6 beds
- 7 baths
- Residential
- Single Family Residence
- Active
- 19206 sq ft

Basics



Date added: Added 7 months ago

Type: Residential

Bedrooms: 6 beds

Half baths: 3 half baths

Area: 19206 sq ft

SubdivisionName: Admirals Cove

GarageSpaces: 22

ListAOR: Miami Association of REALTORS®

Category: Single Family Residence

Status: Active

Bathrooms: 7 baths

Total rooms: 10

Lot size, sq ft: 63837 sq ft

ListOfficeName: Waterfront Properties & Club C

View: Intracoastal View, Other

MLS ID: A11861025

Rooms



Room type	Dimensions	Area	Length	Width
Den	15.1 x 22.2	335.219999999	15.1	22.2
LivingRoom	25.8 x 25.2	650.16	25.8	25.2
UtilityRoom	8.2 x 8.1	66.419999999	8.2	8.1
SecondBedroom	16.2 x 16.6	268.92	16.2	16.6
FamilyRoom	28.4 x 30.5	866.199999999	28.4	30.5
Kitchen	20.6 x 18.6	383.16	20.6	18.6
PrimaryBedroom	17.1 x 28.8	492.48	17.1	28.8
FourthBedroom	17 x 15.1	256.7	17	15.1
FifthBedroom	17 x 15.1	256.7	17	15.1
ThirdBedroom	16.2 x 14.5	234.899999999	16.2	14.5

Building Details

Cooling features: Central Air, Zoned

ArchitecturalStyle: Detached, Two Story, Other

Building Name: Admirals Cove

Exterior material: CBS Construction, Concrete Block Construction

Parking: Circular Driveway, Golf Cart Parking, Rv/Boat Parking

Year built: 2016

NewConstructionYN: No

Heating: Central, Zoned

Roof: Barrel Roof



Amenities & Features

Features: Bar, Built-in Features, Closet Cabinetry, Custom Mirrors, Den/Library/Office, Elevator, Family Room, Fireplace, First Floor Entry, Great Room, Laundry Tub, Media Room, Recreation Room, Utility Room/Laundry, Volume Ceilings, Walk-In Closet(s), Workshop

Amenities: Dishwasher, Disposal, Dryer, Gas Range, Microwave, Refrigerator, Wall Oven, Washer

WindowFeatures: Complete Impact Glass, Impact Glass

PoolFeatures: In Ground, Equipment Stays, Free Form, Heated

GarageYN: Yes

CoolingYN: Yes

FireplaceYN: Yes

Spa Features: Community

CommunityFeatures: Boating, Pool, Exercise Room, Game Room, Gated Community, Golf Course Community, Pickleball, Sauna, Security Patrol, Sidewalks, Spa/Hot Tub

ExteriorFeatures: Lighting, Open Balcony

Waterfront available: Yes

AttachedGarageYN: Yes

PoolPrivateYN: No

